FOOTBALL	_		
Coaches Wind Suit	15 wind suits @ \$100.00	Ć4 F00 00	
Coaches Pullover	15 pull overs @ \$46.50	\$1,500.00	
Short Sleeve Hot Jackets	15 jackets @ \$55.00	\$697.50	
Coaches Tabogon Hat	15 hat @ \$20.00	\$825.00	
Coaches Heavy Rain Jacket	15 rat @ \$20.00	\$300.00	
Game Home Uniform Pant	140 pants @ \$58.00	\$3,375.00	
Game Home Uniform Jersey	99 jerseys @ \$111.00	\$8,120.00	
Game Away Uniform Pant	140 pants @ \$58.00	\$10,989.00	
Game Away Uniform Jersey	99 jerseys @ \$111.00	\$8,120.00	
Travel Bag	100 bags @ \$50.00	\$10,989.00	
Ball Bags		\$5,000.00	
Helmet Decals	6 bags @ \$75.00 115 decals @ \$10.00	\$450.00	
Black Practice Jersey		\$1,150.00	
JV Jerseys	99 jerseys @ \$20.00	\$1,980.00	
JV Pants	80 jerseys @ \$90.00	\$7,200.00	
JV Pailts	80 pants @ \$75.00	\$6,000.00	
	Total for Football		\$66,695.50
VOLLEYBALL			
None			
	Total for Volleyball		\$0.00
BOYS BASKETBALL			
	•		
Gortex Rain Suit	1 suit @\$126.50	\$126.50	
Dry Fit Pullover Golf 1/2 Zip	3 shirts @ \$40.95	\$368.55	
Fleece Pullover Long Sleeve	3 shirts @ \$37.50	\$337.50	
Cold Weather Hooded Pullover	3 pullovers @ \$51.50	\$154.50	
Coaching Vest	3 vest @ \$33.95	\$101.85	
Mock Turtle Neck Coaching Shirt	3 shirts @ \$26.50	\$79.50	
Players Travel Bags			
H	30 bags @ \$46.50	\$139.50	
Equipment Bags	30 bags @ \$46.50 3 bags @ \$29.95	\$139.50 \$89.85	
Sweat Suits	1971 H		
	3 bags @ \$29.95	\$89.85	
Sweat Suits	3 bags @ \$29.95 48 suits @ \$100.00	\$89.85 \$4,800.00	
Sweat Suits Workout Shirts	3 bags @ \$29.95 48 suits @ \$100.00 30 shirts @ \$10.95	\$89.85 \$4,800.00 \$328.50	
Sweat Suits Workout Shirts Wooden Game Play Board	3 bags @ \$29.95 48 suits @ \$100.00 30 shirts @ \$10.95 1 board @ \$30.00	\$89.85 \$4,800.00 \$328.50 \$30.00	
Sweat Suits Workout Shirts Wooden Game Play Board Home White Uniform	3 bags @ \$29.95 48 suits @ \$100.00 30 shirts @ \$10.95 1 board @ \$30.00 21 uniforms @ \$107.00	\$89.85 \$4,800.00 \$328.50 \$30.00 \$2,247.00	
Sweat Suits Workout Shirts Wooden Game Play Board Home White Uniform Away Blue Uniform	3 bags @ \$29.95 48 suits @ \$100.00 30 shirts @ \$10.95 1 board @ \$30.00 21 uniforms @ \$107.00 21 uniforms @ \$107.00	\$89.85 \$4,800.00 \$328.50 \$30.00 \$2,247.00 \$2,247.00	
Sweat Suits Workout Shirts Wooden Game Play Board Home White Uniform Away Blue Uniform White Sophomore Home Uniform	3 bags @ \$29.95 48 suits @ \$100.00 30 shirts @ \$10.95 1 board @ \$30.00 21 uniforms @ \$107.00 21 uniforms @ \$76.00	\$89.85 \$4,800.00 \$328.50 \$30.00 \$2,247.00 \$2,247.00 \$1,596.00	

30 shirts @ \$30.00

\$900.00

Name Plates Black Practice Uniforms	46 plates @ \$4.50	\$900.00	
Reversible Practice Sets	24 sets @ \$60.00 48 sets @ \$24.00	\$1,440.00 \$1,152.00	
Reversible Fractice Sets	40 3613 @ \$24.00	\$1,152.00	
	Total for Boys Basketball		\$21,269.25
GIRLS' BASKETBALL	_		
Red Travel Sweats	25 sets @ \$100	\$2,500.00	
Red Shooting Shirts	25 shirts @ \$70.00	\$1,750.00	
Blue Shooting Shirts	25 shirts @ \$70.00	\$1,750	
Under Armour Backpack	25 backpacks @ \$55.00	\$1,375.00	
Home Uniforms	25 sets @ \$107.00	\$2,675.00	
Away Uniforms 1/2 Zip Pullover	25 sets @ \$107.00	\$2,675.00	
Jackets	4 pullovers @ \$51.50 2 jackets @ \$50.00	\$206.00 \$100.00	
Pullover Vest	2 vest @ \$33.95	\$67.90	
Tanover vest	2 4636 @ \$33.33	Ş07.30	
	Total for Girls' Basketball		\$ 13,098.90
BASEBALL	_		
Game Jersey's	60 jerseys @ \$70.00	\$4,200.00	
	Total for Baseball		\$ 4,200.00
SOFTBALL	_		
Softball Jerseys	35 jerseys @ \$80.00	\$4,200.00	
Softball Jerseys	35 jerseys @ \$80.00	\$4,200.00	
Practice Shirts	35 shirts @ \$35.00	\$1,225.00	
Custom Bucket	2 buckets @ \$40.00	\$80.00	
Field Sign	1 sign @ \$		
Field Wind Screen	1 screen @ \$		
	Total for Softball		\$ 9,705.00

Shooter Shirts

St. III			
BOYS SOCCER	_		
Home Uniforms Away Uniforms Warm Up Sets Rain Suit Back Packs	30 uniforms @ \$140.00 30 uniforms @ \$140.00 34 sets @ \$130.00 2 suits @ \$126.50 30 packs @ \$50.00	\$4.200.00 \$4,200.00 \$4,420.00 \$253.00 \$1,500.00	
	Total for Boys Soccer		\$ 10,373.00
GIRLS SOCCER	_		
Home Uniforms Away Uniforms Warm Up Sets	30 uniforms @ \$140.00 30 uniforms @ \$140.00 34 sets @ \$130.00	\$4,200.00 \$4,200.00 \$4,420.00	
	Total for Girls Soccer		\$12,820.00
BOYS & GIRLS SWIMMING Warm Up Sets Swim Caps	30 sets @ \$100.00 100 caps @ \$16.00	\$3,000.00 \$1,600.00	
	Total For Swim		\$4,600.00
BOYS & GIRLS BOWLING	×		
Game Shirts Practice Shirts	24 shirts @ \$24.00 24 shirts @ \$8.00	\$576.00 \$192.00	
	Total for Bowling		\$768.00
BOYS & GIRLS TRACK			
2 Record Boards Track Uniforms	2 boards @ \$100.00 80 uniforms @ \$60.00	\$200.00 \$4,800.00	
	Total for Track		\$5,000.00

BOYS AND GIRLS GOLF	_		
Polo Shirt (Girls)	30 shirts @ \$38.00	\$1,140.00	
Polo Shirt (Boys)	30 shirts @ \$42.00	\$1,260.00	
Hats	2 dozen @ \$17.00	\$34.00	
	Total for Golf		\$2,434.00
TENNIS BOYS & GIRLS	_		
Boys Game Shirt	17 shirts @ \$18.00	\$306.00	
Boys Game Short	17 shorts @ \$23.00	\$391.00	
Girls Game Shirt	14 shirts @ \$24.00	\$336.00	
Girls Game Short	14 shirts @ \$24.00	\$336.00	
	Total for Tennis		\$1,369.00
WRESTLING	-		
Sweat Suits	40 pair @ \$40.00	\$1,600.00	
Shirt/Shorts	80 pair @ \$15.00	\$200.00	
Singlets		\$2,600.00	
Singlets		\$1,800.00	
Mat	1 mat @ \$9500.00	\$9,500.00	
	Total for Wrestling		\$15,700.00
CHEERLEADING	-		
Cheer Shell	22 shells @ \$97.95	\$2,154.90	
Powerfit Halter	21 halters @ \$128.45	\$2,697.45	
Sling Pack	21 bags @ \$46.95	\$985.95	
Megaphones	24 megaphones @ \$25.00	\$600.00	
Run Through	1 run through	\$500.00	
Running Flags	4 flags @ \$320.00	\$1,280.00	
T-Shirts	22 shirts @ \$12.00	\$264.00	
	Total for Cheerleading		\$8,482.30

DRILL TEAM

Red Duffle Bag	24 bags @ \$29.90	\$717.60
Car Decals	250 decals @ \$5.00	\$1,250.00
T-Shirts	75 shirts @ \$15.00	\$1,125.00

Total for Drill Team \$

BAND

Polo Shirts Website Domain 2 Banners	300 shirts @ \$16.00	\$4,800.00 \$300.00
Marjorette Bags	13 bags @ \$	
Color Guard Bags	32 bags @ \$	
Majorette Warm Ups	13 warm ups @ \$100.00	\$1,300.00
Color Guard Warm Ups	32 warm ups @ \$100.00	\$3,200.00

Total for Band

\$9,600.00

3,092.60

FACILITY CHANGES

Ticket Booth West End End Zone Turf Center Field Turf Press Box Sign		\$400.00 \$38,000.00 \$17,000.00
Turf Sponsor Signs Booster Club Concession Football Concession Stand Concession Stand Menu Boards Band Trailer Athletic Building		\$320.00 \$100.00 \$250.00 \$80.00 \$120.00 \$300.00
Activity Building Sign Over Concession Stand Sign On Football Scoreboard Signs In Weight Room		\$250.00 \$120.00
Center Court Gym Floor - Rebels Gym Floor - Lady rebels Gym Floor - Feds Wall Painting - Rebels	**all of gym pricing ** ** **	\$18,000.00
Scoreboards Flag Banners In Gym Rebel Signs Gym Enterance		\$385.00 \$120.00

Rebel Logo Ice Room Door Seating Chairs W/ Storage Cart Front Covers For Scorers Table Team Banner Athletic Trailer Rebel Theater Sign Choir Banner Charging Station

\$80.00

\$40.00

Marching Band Banner Rebels Tunnel Run Thru

Total Facility

\$ 75,565.00

TOTAL COST OF REPLACEMENT

\$ 264,772.55



Kimberly Epperson <kepperso@fortsmithschools.org>

numbers

1 message

Kimberly Epperson <kepperso@fortsmithschools.org>
To: Charles Warren <cwarren@fortsmithschools.org>

Mon, Jul 27, 2015 at 3:54 PM

Here is what will have to be replaced and dollar amounts. I am sure there will be more added as we start to change. If you need anything else or this is not what you were wanting just let me know. Thanks..Kim

Kim Epperson Fort Smith Public Schools Athletic Department 479-785-2501 ext. 1227

